ToMckHH MOJIUTEXHUYECKUHA YHUBEPCUTET

NHAWUBUYAJIBHBIE 3AJIAHUS
IO TEME «JIUHEVWHASI AJT'EBPA»
(YacrTb 1)

Poxkosa O.B.
BuyTtpukadenpanbHoe usganue,
Per. Nel5 ot 05.02.09



BreauciuTe:
1 O
2 3 5
1) ABuBA, eciin A= 0 1 1] B=|-2 3|;
4 2
1 2 5
2) 3A’ +2A-3E, ectt A=|0 -1 1
2 1 0
1 2 5
2 5 1
31 -1
3) 8 4 2;
2 4 3
-1 0 9
1 0 1
BapuanTt 2
Brruucnuts:
8 1
3 5 -4
1) ABuBA,ecm A={0 2|, B= ;
01 2
3 5
8 9 0
2) 2A* —3A+14E,ecim A=|1 1 2.
1 -1 3
2 1
2 0 3
-1 2
3) 0 1 9y
1 3 11
17 8 27
8 1 4
Bapuant 3
BreauciuTe:
4 3
02 3 1 2 1
1) ABuBA,ectn A= , B= .
2 31 -1 -1 2
0 1
5 5 25 2 1
2) 2A° -3AB+2B°, ecntu A= , B= .
0 1 4 3
2 0 1
4 16 8
3 2 4
3) 7 3 -1;
-1 2 5
2 5 7
3 6 7



BreauciuTe:
2 1 2 0
1) ABC+2A -3B,eciu A= , B= , C
3 -1 -1 5
3
1
2) ABuBA e A= |, B=2 5 -1 8)
5
3 7 1
31 -8
-1 2 5
3) 2 8 16/;
0o 2
4 3 -4
7 2
Bapuant S
Brruucnuts:
31 -1
1) ABuBA, ecnu B= , A=|8 0];
2 0 5
5 2 3 3 2
2) 3A° +2BA-2B, ectu A= , B= .
0 1 5 -1
7 0
4 3 8
3 4
3) 5 -9 44;
-1 8
3 =2
0o -2
Bapuanrt 6
Brraucnurs:
2 3 1 -1
1) AB u BA, ecmi oT0 Bo3mMoxkHO ipu A=|{0 2 5 3
4 -2 8 0
5 3 5 2 -1
2) 3B +2AB—-2A ectu A= , B=
8 0 0 1
3 2
2 3 16
0 -1
3) 8 -9 14;
3 1
12 3 6
7 2



Bapuant 7

Brraucaurs:
3 2 31 -1
1) ABuBA,ectm A=[1 5|, B=|2 5 1 |;
4 0 8 1 0
8 1 2
2) 2A° +2A—-5E, ecru A=[0 1 -1].
31 5
2 8 3 3
16 5 15
4 1 9 2
3) 12 30 -9
-6 2 51
4 —-15 3
-2 =310
Bapuant 8
Brrauciaurs:
3 2 2
1) AB u BA, ecan 310 Bo3mMoxHO, ipu A=| 1 —-1|, B=|3
2 0 2
) X 7 1 3 1
2) 2AB+3B" —-2A",ecm A = , B= )
4 -5 2 0
3 4 2 1
2 4 3
35 -7 0
3) 8 16 —6;
0 1 -1
-4 12 12
-3 4 2
Bapuant 9
BreramcianTs:
1) AB u BA, eciti 3T0 BO3MOKHO, anAZ(—4 -1 O), B=
4 1 0
2) TA* —2AE +3E, eciu A= 2 1 2].
-1 0 1
2 5 0 1
2 5 1
8 16 20 14
3) 8 -1 2f;
3 -4 3 5
4 10 12
5 1 2 6

5

1

0

4
—11:
-2

—_— N = N



Bapuaut 10

Brruncnnts:
4 -1 -1
1) ABC, BAC, CBA, eciti 3T0 BO3MOXKHO, an/IAZL}, B=|2 2
1 1
3 4 2
2) 2A° -3A+7E, eciu A= o —11°
2 5 7 1
4 0 -1
-2 -8 3 9
3) 16 4 -4,
2 5 4 2
4 8 9
0 -3 10 10
Bapmuanr 11
Breramcauts:
2 5 2
1) AB u BA, ecimi 3T0 BO3MOKHO, HpI/IA:|: 4 J, B=|-1
1
3 3 -5
2) 3A°+2A-T7E, ecru A = .
8 0
31 -1 2
2 —-16 15
0 1 2 3
3) 4 -4 6/
4 -2 3 0
-6 8 24
2 5 6 3
Bapuant 12
Breramciauts:
2 -1 2
1) ABC, BAC, CBA, ecin 3T0 BO3MOXHO, ITpu A = 5| B= 3 4l
c=[5 -8 1 -3];
3 3 1
2) 5B° +3B—-4E, ecom B= .
0 -4
2 0 =51
4 3 2
3 4 5 2
3) 16 15 -§|;
2 7 2
6 -3 2
1 -1 0

b

W N = O

w N = O

A W O =



Bapmuanr 13

Brraucaurs:
3
1) ABC, BAC, CBA, ecau 3TO BO3MOXHO, anA=[2 5 —1], B=|2
5
5 2 5
2) TA" —5A+2E, ecm A= L2l
5 2 =73
4 3 -5
-1 1 2 2
3) 2 -1 0f;
0O 1 5 3
3 9 15
4 2 -5 5
Bapuant 14
Breramciauts:
3
5
1) AB u BA, eciu 3T0 BO3MOKHO IIpU A=[3 0 25 —1], B=|-1
4
|1
5 5 2 8 3 1
2) 3A" +2AB-7B°, ectu A= , B= .
-1 0 8 -1
2 12 18
7 14 -7
1 -12 -15
3) -3 6 2|;
3 9 -6
8 4 -4
-4 0 -3
Bapmuanrt 15
BrruncnuTs:
2 5
2 3 1
1) AB u BA, ecniit 3T0 Bo3moxHO ipu A=| 8 —1|, B= 5 s !
-2 0
5 5 2 3 2 1
2) 7A°—2AB-3B°, ecitu A= , B= .
-1 0 -1 2
4 3 1 -1
3 5 -4
25 8 3
3) 6 0 8i;
3 8 -1 5
15 20 10

-1
0

|



BreauciuTe:
1 O
2 3 5
1) ABuBA, eciin A= 0 1 e B=|-2 3]|;
4 2
g8 9 0
2) 2A7 -3A+14E, ecru A=|1 1 2.
1 -1 3
2 01
4 16 8
3 2 4
3) 7 3 -1;
-1 2 5
2 5 7
3 6 7
BapuanTt 17
Brruucnuts:
8 1
3 5 -4
1) ABuBA,ecm A={0 2|, B= ;
01 2
3 5
5 5 25 2 1
2) 2A" -3AB+2B°, ectu A= , B= .
0 1 4 3
3 7 1
3 1 -8
-1 2 5
3) 2 8 16/;
0o 2 3
4 3 -4
7 2 4
Bapuant 18
Brerauciuth:
4
02 3 1 2
1) ABuBA,ectu A= , B=
2 31 -1 -1
0
3
1
2) ABuBA, cemn A= |, B=2 5 -1 8)
5
7 0
4 3 8
3 4
3) 5 -9 44;
-1 8
3 =2
0o -2

Bapmuanr 16

—_— N = W

_— W N =
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Bapuaut 19

BreraucianTs:
2 1 2 0 3 1
1) ABC+2A -3B,ecimu A= , B= , C= ;
3 -1 -1 5 2 0
5 2 3 3 2
2) 3A° +2BA-2B, ecmtn A = , B= .
01 5 -1
3 2 5 -1
2 3 16
0o -1 -2 2
3) 8 -9 14;
3 1 3
12 3 6
7 2 5 4
Bapuant 20
Brrauciaurs:
2 4
31 -1
1) AB uBA, eciiu B= , A=|8 0f;
2 0 5
3 2
) 35 2 -1
2) 3B +2AB-2A, ecctm A= , B= .
8 0 0 1
2 8 3 3
16 5 15
4 1 9 2
3) 12 30 -9;
-6 2 51
4 —-15 3
-2 -3 10
Bapuant 21
Breramciauts:
3
2 3 1 -1 |
1) AB u BA, ecnii 3T0 Bo3mMoxkHoipu A=|0 2 5 3 |, B= 0 ;
4 -2 8 0
-1
8 1 2
2) 2A* +2A-5E, ecim A=|0 1 -—1].
31 5
4 2 1
2 4 3
5 -7 0
3) 8 16 —6|;
1 2 -1
-4 12 12



Bapuanr 22

Brraucaurs:
3 2 31 -1
1) ABuBA,ectm A=[1 5|, B=|2 5 1 |;
4 0 8 1 0
) X 7 1 3 1
2) 2AB+3B" -2A",ectm A = , B= )
4 -5 2 0
2 5 0 1
2 5 1
8 16 20 14
3) 8 -1 2f;
3 -4 3 5
4 10 12
51 2 6
Bapuant 23
Breramciauts:
3 2 2
1) AB u BA, ecu 3t0 Bo3moxHo, ipu A=| 1 —-1|, B=|3
2 0 2
4 1 0
2) TA*> —2AE+3E, eciu A=| 2 1 2].
-1 0 1
2 5 7 1
4 0 -1
-2 -8 3 9
3) 16 4 -4,
2 5 4 2
4 8 9
0 -3 10 10
Bapuant 24
Breramciauts:
1) AB u BA, ecitmi 3T0 BO3MOXKHO, npnA=(—4 -1 0), B=
3 4 2
2) 2A° -3A+7E, ecru A= o —11°
31 -1 2
2 —-16 15
0 1 2 3
3) 4 -4 6|
4 -2 3 0
-6 8 24
2 5 3

—_— N =



Bapmuaurt 25

-1 -1

Brruucnuts:
4
1) ABC, BAC, CBA, eciti 3T0 BO3MOXKHO, an/IAZL}, B=| 2
1
3 3 -5
2) 3A°+2A-T7E, eciu A= .
8 0
2 0 -5
4 3 2
3 4
3) 16 15 -§;
2 7
6 -3 2
1 -1
Bapuaur 26
Brruucnuts:
2 5
1) AB u BA, eciti 3T0 BO3MOKHO, anAZ[ 4 J, B
3 3 1
2) 5B° +3B—-4E, ecru B = .
0 -4
5 2 -7
4 3 -5
-1 1
3) 2 -1 0f;
0 1
3 9 15
4 2 -5
Bapuant 27
Brruncnuts:

2
1) ABC, BAC, CBA, eciiu 3T0 BO3MOXHO, ITpu A :L} , B :{

c=[5 -8 1 -3];
) 2 5
2) TA" —=5A+2E, ecrm A= E
2 12
7 14 -7
)
3) -3 6 2;
39
8 4 —4

~4 0

2
1

S NN =

DN W N W

18
—-15
-6
-3

b

-2

W N = O

w N = O

A W O =



Bapmuant 28

Brraucaurs:
3 2 2
1) ABC, BAC, CBA, ecau 3TO BO3MOXHO, anA=[2 5 —1], B={2 1 |,C=-
5 -1 3
5 5 2 8 3 1
2) 3A" +2AB-7B°, ecmu A = , B= .
-1 0 8 -1
4 3 1 -1
3 5 -4
25 8 3
3) 6 0 8i;
3 8 -1 5
15 20 10
01 2 1
Bapuant 29
Brerauciaurs:
_ .
0
1) AB u BA, ecii 5T0 BO3MOXKHO TTPH A=[3 0 2 5 —1], B=|-1 2/|;
4 3
5 5 2 3 2 1
2) 7A-—2AB—-3B°, eciim A = , B= .
-1 0 -1 2
1 2 5 1
2 51
31 -1 0
3) 8 4 2;
2 4 3 2
-1 0 9
1 0 -1
Bapuant 30
BreramcianTs:
2 5
2 3 1 -1
1) AB u BA, ecnii 310 Bo3MoxkHO ipu A =| 8 -1/, B=2 5 L o ;
-2 0
1 2 5
2) 3A’ +2A-3E, eciu A=|0 -1 1[.
2 1 0
2 1 8
2 0 3
-1 2 3 5
3) 0 1 9y
1 3 11 6
17 8 27
8 1 4 -9
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